5.3k{ERIzE
(1)1 L7 RAEME

O FEREHML T, %, ®i2ToRT 5,

@ OoX%E 2T 2,

@ @OAXEEHL T, HUA%E0ICT 5,

@ 5X%2QD /AN THI B,

® @Dah DRI EHEREZRAT 5,

(212 SCF- D KA E

O A HEERDTE L, BEICL> T, 2ZHRDTEL,

@ QR XFORMIEOAR) #HVT, 528 (-2) °kT,

@ Ooftiz@DRIRAT 3,

(2 XFDRMEPED A
(1) a®+b*=(atb)’ F2ab
(2) @*+b*=(atb)’ F3ab(ath)
3) (a+b) +(a=b)' = 2((12 + bz)
4) (a+b) =(a=b) =4ab

X ZAH- AR REMEOARIE, AR N ERU 25, =ME
BREOMWE 2 I AR H 206K T 52 8, FEL X, TR 5653
HIV.7.; 22,

X (2 XFORMITEDAR) (3) 1&, BEAXDOEFMLU, kIS 4) D

a

ARDFEAAD 10) IZFHL,
(3)3 X KAt
O (3 XFORMEEEORAR]) ZHWT, X225 a+b+c, ab+be + ca, abe D
flEizRDTEL,

@ B XFOFRMEMEEDOAR) ZH T, 5% a+b+c, ab+bc +ca, abc TET,
@ ODfEzIRAT 5,
(3 X T D RAEFED )

(1) (a+b+c)2=a2+b2+c2+2(ab+bc+ca)

(2) a3+b3+c3—3abc=(a+b+c)(a2+b2+c2—ab—bc—ca)



